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Chapter 9, Solution 38. 
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Chapter 9, Solution 49. 
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Chapter 9, Solution 57.  
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Chapter 9, Solution 62.  
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Chapter 9, Solution 64.  
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Chapter 9, Solution 67.  
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Chapter 9, Solution 68.  
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Chapter 9, Solution 77.  
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Chapter 9, Solution 90.  
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Chapter 9, Solution 91.  
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Chapter 9, Solution 92.  
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Chapter 9, Solution 93.  
 

Ls 2 ZZZZ ++=  
)9.186.05.0(j)2.238.01( +++++=Z  

20j25+=Z  
 

°∠
°∠

==
66.3802.32

0115S
L Z

V
I  

=LI  3.592∠-38.66° A 
 

 



 COSMOS: Complete Online Solutions Manual Organization System 

 
 

Fundamentals of Electric Circuits, 3/e, Charles Alexander, Matthew Sadiku 
© 2007 The McGraw-Hill Companies. 

 
 

Chapter 14, Solution 46.  
 
(a) This is an RLC series circuit. 
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Chapter 14, Solution 48.  
 

Cj
1

||RLj

Cj
1

||R
)(

ω
+ω

ω
=ωH  

Cj1R
CjR

Lj

Cj1R
CjR

)(

ω+
ω

+ω

ω+
ω

=ωH  

=ω)(H
RLCLjR

R
2ω−ω+

 

 
1)0(H =  and 0)(H =∞  showing that this circuit is a lowpass filter. 
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Chapter 14, Solution 50.  
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0)0(H =  and 1)(H =∞  showing that this circuit is a highpass filter. 
 

L
R

1

L
R

1

1
2

1
)(

c
2

c

c ω
=→










ω
+

==ωH  

or cc f2
L
R

π==ω  

 

=⋅
π

=⋅
π

=
1.0

200
2
1

L
R

2
1

fc Hz3.318  

 



 COSMOS: Complete Online Solutions Manual Organization System 

 
 

Fundamentals of Electric Circuits, 3/e, Charles Alexander, Matthew Sadiku 
© 2007 The McGraw-Hill Companies. 

 
 

Chapter 14, Solution 97.   
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Chapter 14, Solution 98.  
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Chapter 14, Solution 100.  
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Chapter 14, Solution 102.  
 

(a) When 0R s =  and ∞=LR , we have a low-pass filter. 
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Chapter 14, Solution 103.  
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